

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 6

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SLN 9445A

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	TAILGATE (CONSISTENT)	BENT	931.60	910.00
1	TAILGATE GLASS (CONSISTENT)	SHATTERED	899.50	810.50
1	SET TAILGATE GLASS MOULDING (CONSISTENT)	NECESSARY	121.30	121.30
1	TAILGATE WIPER ARM (CONSISTENT)	SERVICEABLE	86.90	-
1	TAILGATE WIPER MOTOR (CONSISTENT)	JAMMED	431.20	431.20
1	TAILGATE OUTER GARNISH (CONSISTENT)	WARPED	282.60	282.60
1	TAILGATE OUTER HANDLE (CONSISTENT)	SERVICEABLE	48.60	-
2	TAILGATE LICENCE LAMPS @\$42.20 (CONSISTENT)	SERVICEABLE	84.40	-
1	TAILGATE LOGO (CONSISTENT)	NECESSARY	48.20	48.20
1	TAILGATE EMBLEM "JAZZ" (CONSISTENT)	NECESSARY	68.60	68.60
2	TAILGATE LAMPS - L/R @\$281.60 (CONSISTENT)	CRACKED	563.20	563.20
1	TAILGATE INNER LOCK (CONSISTENT)	JAMMED	280.90	280.90
1	TAILGATE INNER TRIM BOARD (CONSISTENT)	BUCKLED	381.90	288.90
1	TAILGATE LOCK STRIKER (CONSISTENT)	TO REPAIR SEE LABOUR	41.20	-
2	TAILGATE DAMPERS @\$141.20 (CONSISTENT)	PUNCTURE	282.40	282.40
2	TAILGATE HINGES @\$68.50 (CONSISTENT)	TO REPAIR SEE LABOUR	137.00	-
1	TAILGATE INNER PULL POCKET (CONSISTENT)	SERVICEABLE	69.60	-
2	TAILGATE STOPPERS @\$12.60 (CONSISTENT)	SERVICEABLE	25.20	-
2	TAILLAMPS - L/R @\$441.50 (CONSISTENT)	CRACKED	883.00	745.60
2	TAILLAMP PANELS - L/R @\$211.60 (CONSISTENT)	BENT	423.20	352.40
4	TAILLAMP SIDE CLIPS @\$8.50 (CONSISTENT)	NECESSARY	34.00	34.00
1	REAR BUMPER (CONSISTENT)	BENT	712.20	535.00
2	REAR BUMPER SIDE COVER (CONSISTENT)	SERVICEABLE	89.60	-
4	REAR BUMPER PDC SENSORS @\$283.60 (CONSISTENT)	SHORTED (1PC ONLY)	1,134.40	460.40
1	REAR BUMPER PDC SENSOR WIRE HARNESS (CONSISTENT)	SERVICEABLE	241.60	-
2	REAR BUMPER SIDE RETAINERS - L/R @\$58.60 (CONSISTENT)	DISTORTED	117.20	117.20
1	REAR END PANEL (CONSISTENT)	BENT	483.90	355.00
1	REAR END PANEL GARNISH (CONSISTENT)	DENTED	155.60	155.60



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 6

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR EXHAUST SILENCER (CONSISTENT)	BENT	571.60	571.60
1	REAR EXHAUST INSULATOR (CONSISTENT)	DENTED	120.30	120.30
4	REAR EXHAUST MOUNTINGS @\$18.90 (CONSISTENT)	SERVICEABLE	75.60	-
1	REAR EXHAUST CTR PIPE (CONSISTENT)	TO REPAIR SEE LABOUR	590.60	-
1	REAR FLOOR BOARD (CONSISTENT)	DEFORMED	391.60	315.30
1	REAR FLOOR TOOL TRAY (CONSISTENT)	CRACKED	291.60	291.60
1	REAR FLOOR COMPARTMENT PANEL (CONSISTENT)	BENT / BUCKLED	796.30	781.90
2	REAR FENDERS - L/R @\$891.60 (CONSISTENT)	N/S TO REPAIR SEE LABOUR / O/S BUCKLED	1,783.20	891.60
2	REAR FENDER GLASS MOULDINGS - L/R @\$86.90 (CONSISTENT)	N/S SERVICEABLE / O/S NECESSARY	173.80	86.90
2	REAR FENDER INNER TOP TRIMS - L/R @\$211.40 (CONSISTENT)	SERVICEABLE	422.80	-
2	REAR FENDER INNER TRIM BOARDS - L/R @\$485.90 (CONSISTENT)	MTG CRACKED	971.80	570.80
1	REAR SMART KEYLESS ANTENNA (CONSISTENT)	SERVICEABLE	192.60	-
1	REAR SMART KEYLESS BUZZLE (CONSISTENT)	SERVICEABLE	181.60	-
1	REAR SIDE CHASSIS MEMBER - RH (CONSISTENT)	TO REPAIR SEE LABOUR	516.90	-
2	REAR SHOCK ABSORBERS - L/R @\$280.60 (CONSISTENT)	SERVICEABLE	561.20	-
1	REAR SPEAKER BOARD (CONSISTENT)	SERVICEABLE	580.90	-
1	FRONT BONNET (CONSISTENT)	BENT	720.60	633.00
1	FRONT BONNET LOCK CABLE (CONSISTENT)	SERVICEABLE	89.60	-
1	FRONT BONNET LOCK (CONSISTENT)	DISTORTED	131.80	131.80
1	FRONT BONNET SEAL - CTR (CONSISTENT)	SERVICEABLE	61.50	-
2	FRONT BONNET SEALS - L/R @\$48.60 (CONSISTENT)	N/S CUT	97.20	48.60
1	FRONT BONNET INSULATOR (CONSISTENT)	SERVICEABLE	120.60	-
8	FRONT BONNET INSULATOR CLIPS @\$5.50 (CONSISTENT)	NOT NECESSARY	44.00	-
2	FRONT BONNET HINGES - L/R @\$58.60 (CONSISTENT)	N/S BENT	117.20	58.60
1	FRONT BUMPER (CONSISTENT)	BUCKLED	723.50	538.00
1	FRONT BUMPER LOWER GRILLE (CONSISTENT)	SERVICEABLE	221.30	-
1	FRONT BUMPER SIDE GRILLE - LH (CONSISTENT)	SERVICEABLE	81.50	-
2	FRONT BUMPER BEAMS - L/R @\$68.80 (CONSISTENT)	N/S BENT	137.60	68.80



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 6

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	FRONT BUMPER REINFORCEMENT (CONSISTENT)	TO REPAIR SEE LABOUR	395.60	-
2	FRONT BUMPER SIDE RETAINERS - L/R @\$42.20 (CONSISTENT)	N/S CRACKED	84.40	42.20
1	FRONT FENDER - LH (CONSISTENT)	BENT	484.60	484.60
1	FRONT FENDER UNDERCOVER - LH (CONSISTENT)	SERVICEABLE	141.20	-
1	FRONT FENDER WHEEL HOUSING - LH (CONSISTENT)	TO REPAIR SEE LABOUR	681.50	-
1	FRONT FENDER INNER APRON PANEL (CONSISTENT)	BENT	481.60	481.60
1	FRONT GRILLE (CONSISTENT)	CRACKED	361.90	361.90
1	FRONT GRILLE LOGO (CONSISTENT)	NECESSARY	54.60	54.60
1	FRONT GRILLE MOULDING (CONSISTENT)	SERVICEABLE	110.20	-
2	FRONT HEADLAMPS - L/R @\$1140.90 (CONSISTENT)	N/S BROKEN	2,281.80	585.90
2	FRONT HEADLAMP LOWER BRACKETS @\$48.60 (CONSISTENT)	N/S CRACKED	97.20	48.60
1	FRONT LICENCE PLATE GARNISH (CONSISTENT)	SERVICEABLE	86.90	-
1	FRONT SUPPORT PANEL (CONSISTENT)	BENT	571.60	571.60
1	FRONT SUPPORT TOP GARNISH (CONSISTENT)	SERVICEABLE	121.20	-
1	FRONT SHOCK ABSORBER - LH (CONSISTENT)	SERVICEABLE	421.20	-
1	FRONT LOWER ARM (CONSISTENT)	SERVICEABLE	370.60	-
1	FRONT KNUCKLE ARM (CONSISTENT)	SERVICEABLE	381.90	-
1	FRONT WHEEL BEARING (CONSISTENT)	NOT NECESSARY	192.60	-
1	FRONT SIDE CHASSIS FRAME MEMBER - LH (CONSISTENT)	TO REPAIR SEE LABOUR	591.90	-
1	FRONT WIPER PANEL GARNISH (CONSISTENT)	SERVICEABLE	281.90	-
1	FRONT WINDSCREEN (CONSISTENT)	CRACKED	1,481.50	1,481.50
1	FRONT WINDSCREEN MOULDING (CONSISTENT)	NECESSARY	121.60	121.60
1	FRONT PILLAR 1/4 GLASS - LH (CONSISTENT)	CRACKED	280.60	280.60
1	FRONT PILLAR 1/4 GLASS MOULDING (CONSISTENT)	NECESSARY	81.50	81.50
1	AIR CON CONDENSER (CONSISTENT)	PUNCTURE	790.60	790.60
1	AIR CLEANER INTAKE DUCT (CONSISTENT)	SERVICEABLE	110.20	-
1	AIR CLEANER BOX ASSY (CONSISTENT)	CRACKED	341.50	341.50
1	AIR CLEANER RESONATOR (CONSISTENT)	CRACKED	121.30	121.30
1	RADIATOR ASSY (CONSISTENT)	TWISTED / PUNCTURE	1,407.80	1,348.20



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 6

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	RADIATOR FAN ASSY (CONSISTENT)	CRACKED	481.90	481.90
1	RADIATOR SPARE TANK (CONSISTENT)	DENTED	86.90	86.90
1	BATTERY TRAY (CONSISTENT)	SERVICEABLE	89.90	-
1	E.C.U CONTROL UNIT (CONSISTENT)	SERVICEABLE	1,895.90	-
1	ENGINE MOUNTING - RH (CONSISTENT)	SERVICEABLE	291.60	-
1	ENGINE MOUNTING - LH (CONSISTENT)	SERVICEABLE	261.90	-
1	ENGINE MOUNTING - REAR (CONSISTENT)	SERVICEABLE	210.50	-
1	MAIN FUSE BOX ASSY (CONSISTENT)	SERVICEABLE	491.60	-
1	SET MAIN FUSE BOX WIRE HARNESS (CONSISTENT)	SERVICEABLE	1,695.60	-
	LESS 20% DISCOUNT		-7,652.92	-3,943.68
			30,611.68	15,774.72
1	TAILGATE W/STRIP (SN) (50%) (CONSISTENT)	DENTED / CUT	196.90	98.45
	LESS 20% DISCOUNT	DENTED 7 GOT	-39.38	30.43
	ELSS 20% DISCOUNT		157.52	98.45
	SPECIAL NETT ITEMS			
1	SET TAILGATE GLASS SEALANT (SN) (CONSISTENT)	NECESSARY	80.00	40.00
1	TAILGATE GLASS FOAM TAPE (SN) (CONSISTENT)	NECESSARY	65.00	30.00
1	TAILGATE GLASS SOLAR FILM (SN) (CONSISTENT)	NOT NECESSARY	280.00	-
1	REAR RECORDER CAMERA (SN) (CONSISTENT)	SERVICEABLE	550.00	-
1	REAR REVERSE CAMERA (SN) (CONSISTENT)	MISSING	450.00	300.00
1	SET REAR BUMPER CLIP (SN) (CONSISTENT)	NECESSARY	35.00	35.00
1	SET REAR NO. PLATE WITH HOLDER (SN) (CONSISTENT)	BENT	60.00	45.00
1	SET REAR PASSENGER LEATHER SEAT COVER (SN) (CONSISTENT)	SERVICEABLE	800.00	-
1	SET REAR FENDER GLASS SEALANT (SN) (CONSISTENT)	NECESSARY	80.00	40.00
1	SET FRONT BUMPER CLIP (SN) (CONSISTENT)	NECESSARY	45.00	45.00
1	SET FRONT FENDER INNER SHIELD CLIP (SN) (CONSISTENT)	NOT NECESSARY	45.00	-
1	SET FRONT WINDSCREEN SEALANT (SN) (CONSISTENT)	NECESSARY	80.00	40.00
1	SET FRONT WINDSCREEN FOAM TAPE (SN) (CONSISTENT)	NECESSARY	65.00	30.00
1	FRONT WINDSCREEN SOLAR FILM (SN) (CONSISTENT)	NOT NECESSARY	280.00	-



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:5 of 6

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	SET FRONT PILLAR 1/4 GLASS SEALANT (SN) (CONSISTENT)	NECESSARY	60.00	30.00
1	BATTERY (SN) (CONSISTENT)	SERVICEABLE	300.00	-
1	BOT A/C OIL (SN) (CONSISTENT)	SERVICEABLE	65.00	-
1	FRONT TYRE - LH (SN) (CONSISTENT)	SERVICEABLE	200.00	-
1	I.U BRACKET (SN) (CONSISTENT)	NECESSARY	28.00	26.00
1	BOT RADIATOR COOLANT (SN) (CONSISTENT)	NECESSARY	65.00	30.00
			3,633.00	691.00
	<u>LABOUR</u>			
	TO CHECK FRONT AND REAR ELECTRICAL WIRING.		100.00	40.00
	TO REMOVE, REFIX TAILGATE GLASS / FENDER GLASS.		450.00	160.00
	TO VACUUM, EAXING, & CLEANING INTERIOR.		180.00	60.00
	TRANSFER AND REFIX TAILGATE COMPONENTS TO NEW TAILGATE.		150.00	60.00
	TO REMOVE, REFIX REAR INTERIOR TRIMS TO ASSIST REPAIR.		120.00	120.00
	TO REMOVE, REFIX REAR EXHAUST SYSTEMS.		180.00	60.00
	TO REMOVE, REFIX A/C CONDENSER & REFILL A/C GAS.		120.00	100.00
	TO REMOVE, REFIX FRONT WINDSCREEN / PILLAR GLASS.		300.00	180.00
	TO REMOVE, REFIX FRONT UNDERCARRIAGE.	NOT NECESSARY	250.00	-
	TO CHECK WHEEL ALIGNMENT.	NOT NECESSARY	120.00	-
	REINSTALL, REMOVE & REFIX MAIN DUSE BOX / WIRE HARNESS.	NOT NECESSARY	450.00	-
	TO RESPRAY UNDERCOATING.		200.00	180.00
	TO RESPRAY PAINTING AND ETC.		2,200.00	2,000.00
	PANEL BEATING, CUT, WELD REMOVE & REPLACING ABOVE PARTS. INCLUSIVE OF THE REPAIR OF TAILGATE LOCK STRIKER, TAILGATE HINGES, REAR EXHAUST CTR PIPE, REAR FENDERS - N/S, REAR SIDE CHASSIS MEMBER - RH, FRONT BUMPER REINFORCEMENT, FRONT FENDER WHEEL HOUSING - LH AND FRONT SIDE CHASSIS FRAME MEMBER - LH.		3,500.00	2,800.00
			8,320.00	5,760.00
	GRAND TOTAL		42,722.20	22,324.17



Page No.:6 of 6

RECOMMENDED COST OF LUMP SUM REPAIRS	17,800.00
(TO ITS PRE-ACCIDENT CONDITION)	

Report Ref No. CS/ASM22012426/Kqp3e2

KONG SENG CHEONG

Licensed Appraiser